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WEST BENGAL STATE UNIVERSITY
B.A. Honours PART-] Examinations, 2017

SANSKRIT-HONOURS

PAPER-SANA-I
Time Allotted: 4 Hours Full Marks: 100

The figures in the margin indicate Jull marks.
Candidates should answer in their own words and adhere to the word limit as practicable.

Unit-1
[Marks - 20]
1. Write short note on any one from the following: 4x]1 =4
e, O, T |
2. Define and illustrate any swo from the following: 4x2=8

HWﬁ?ﬁW{, ?Iléaﬁaﬂ%ﬁql RN, s=gar|

3 Scan and name the metres in any two from the following: 4x2=8
(a) f&d #rEIR = goh = |
(b) Waf~q FaReRaT: Bern: |
() T = MR IoaR: IR |
(d) PTHaed W ¥ HIT YRy |
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1.

Unit-II
[Marks — 40]
Join in Sandhis any four from the following:
TAHEIY, M+, TEHBR, JHHPifder, mm«ﬁmﬁwgw+@ﬁtMGﬁ
‘T‘ﬂ+33_05‘l I

Disjoin the Sandhis in any four from the following:
IRAT, Hie, Yo, B9 o, fare, w5, SEa;, Nequen |

Account for the case-endings in any eight from the following underlined
words:

(a) rETETq gEAfcr R |
(b) Y= Had |

(c) gHIIq_Bei I |
(d) g8 g fRFfey |

(e) g=: BaNt=Bfa |
() 791 o |

(8) TR 3 S |

(h) B3y T B |

(i) SUEIRIT SR |
() frey e e

(k) fed g3 far s |
(1) S99 wradq |

Distinguish between any four from the following words:
(a) ¥ISTq and WraH |
(b) 3ff and 3efar |
(c) A and gARId |
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(d) fhs®¥1 and fheal |
(¢) HERISE: and FERTST |
(f) e and el |

8. Name and expound the Samasas in any four from the following:

9. Correct or justify any four from the following:
(a) ST 99 Yafafed |
(b) T T GRIGY: |
(c) 1 f& \mrar wRoj fanaf= |
(d) JRiery TaegH: |
(e) g f3raire: |
() ARG TR |

_ Unit-ITT
[Marks — 30]

10.  Translate into Sanskrit and write in Devanagar script:

A dog was going along the riverside way with a piece of meat in his mouth.
He then found his image in the water of the river and thought to himself, oh!

There was another dog going with a piece of meat. Then out of greed he -

wanted to have that piece of meat and jumped into the water. He was then
carried away by the current of the water.

OR
The character of a good man is like that of a tree. The tree stands in the rays
of the sun. Still it gives shade to the travelers standing beneath it. The
woodcutter may strike at its root, but it never withdraws its shade from his

head. Its branches afford shelter to many birds. Such is the character of good
men.
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11.

Translate into English:

FRIfR o Oodad: A SR amR: | vhar 0 (8T a0 | aRE
G AT | d&T Yol AfRihT U ARG SUIfa | aFR: dR
IR @ omd arafd w1 | AR g g9 ST g sifsd | gaA
IR Hg: O G A1 YERfd W | GRS J SSS qRETEm | T
BUGEAREIS BN IS

OR

B AT g5 Ferdiel SN | AR 38 aIferii woriad= | gEw
dY WET Wl W 9 geHedl i Og A | fesar aRew
BREFRE Bl Wiewr: Redr | ¥ SfARgUAHRE ke dedied
T | aRE A FIfHR worafyd 98 Ul Wit | 9§ w8y
AR QY : |

Unit-1V
[Marks — 10]
12.  Write an essay in simple Sanskrit 6n any one from the following:
; (a) g=ANATS: |

(b) I FE |

(c) da fra: Hfa: |

(d) e HEIfAEery: |
1104 4
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